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QUESTION 1

Exhibit. 

Which statement is correct regarding the interface configuration shown in the exhibit? 

A. The interface MTU has been increased. 

B. The IP address has an invalid subnet mask. 

C. The IP address is assigned to unit 0. 

D. The interface is assigned to the trust zone by default. 

Correct Answer: C 

 

QUESTION 2

You have created a zones-based security policy that permits traffic to a specific webserver for the marketing team.
Other groups in the company are not permitted to access the webserver. When marketing users attempt to access the
server they are unable to do so. What are two reasons for this access failure? (Choose two.) 

A. You failed to change the source zone to include any source zone. 

B. You failed to position the policy after the policy that denies access to the webserver. 

C. You failed to commit the policy change. 

D. You failed to position the policy before the policy that denies access the webserver 
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Correct Answer: CD 

 

QUESTION 3

Which two actions are performed on an incoming packet matching an existing session? (Choose two.) 

A. Zone processing 

B. Security policy evolution 

C. Service ALG processing 

D. Screens processing 

Correct Answer: CD 

 

QUESTION 4

Firewall filters define which type of security? 

A. Stateful 

B. Stateless 

C. NGFW 

D. Dynamic enforcement 

Correct Answer: B 

 

QUESTION 5

Which statements is correct about Junos security zones? 

A. User-defined security must contain at least one interface. 

B. Security policies are referenced within a user-defined security zone. 

C. Logical interface are added to user defined security zones 

D. User-defined security must contains the key word `\\'zone\\'\\' 

Correct Answer: C 

 

QUESTION 6

Which two statements are correct about functional zones? (Choose two.) 

A. A functional zone uses security policies to enforce rules for transit traffic. 
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B. Traffic received on the management interface in the functional zone cannot transit out other interface. 

C. Functional zones separate groups of users based on their function. 

D. A function is used for special purpose, such as management interface 

Correct Answer: BD 

 

QUESTION 7

Host-inbound-traffic is configured on the DMZ zone and the ge-0/0/9.0 interface attached to that zone. Referring to the
exhibit, 

which to types of management traffic would be performed on the SRX Series device? (Choose two.) 

A. HTTPS 

B. SSH 

C. Finger 

D. HTTP 

Correct Answer: BD 

 

QUESTION 8
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Which statement about IPsec is correct? 

A. IPsec can be used to transport native Layer 2 packets. 

B. IPsec can provide encapsulation but not encryption 

C. IPsec is a standards-based protocol. 

D. IPsec is used to provide data replication 

Correct Answer: C 

 

QUESTION 9

Which two statements are true about UTM on an SRX340? (Choose two.) 

A. A default UTM policy is created. 

B. No default profile is created. 

C. No default UTM policy is created 

D. A default UTM profile is created 

Correct Answer: BC 

 

QUESTION 10

Click the Exhibit button 

You have configured source ... Being received By the SRX series Which features must be configured 

A. Port Forwarding 

B. Destination NAT 

C. Proxy ARP 

D. Reverse static NAT 
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Correct Answer: C 

 

QUESTION 11

You configure and applied several global policies and some of the policies have overlapping match criteria. 

A. In this scenario, how are these global policies applies? 

B. The first matched policy is the only policy applied. 

C. The most restrictive that matches is applied. 

D. The least restrictive policy that matches is applied. 

Correct Answer: A 

 

QUESTION 12

You want to integrate an SRX Series device with SKY ATP. What is the first action to accomplish task? 

A. Issue the commit script to register the SRX Series device. 

B. Copy the operational script from the Sky ATP Web UI. 

C. Create an account with the Sky ATP Web UI. 

D. Create the SSL VPN tunnel between the SRX Series device and Sky ATP. 

Correct Answer: C 

 

QUESTION 13

Which statements is correct about SKY ATP? 

A. Sky ATP is an open-source security solution. 

B. Sky ATP is used to automatically push out changes to the AppSecure suite. 

C. Sky ATP only support sending threat feeds to vSRX Series devices 

D. Sky ATP is a cloud-based security threat analyzer that performs multiple tasks 

Correct Answer: D 

 

QUESTION 14

Which two statements about security policy processing on SRX series devices are true? (choose two) 

A. Zone-Based security policies are processed before global policies. 
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B. Traffic matching a global policy cannot be processed against a firewall filter 

C. Zone-Based security policies are processed after global policies 

D. Traffic matching a zone-based policy is not processed against global polices. 

Correct Answer: AC 

 

QUESTION 15

What is the correct order of processing when configuring NAT rules and security policies? 

A. Policy lookup > source NAT > static NAT > destination NAT 

B. Source NAT > static NAT > destination NAT > policy lookup 

C. Static NAT > destination NAT> policy lookup > source NAT 

D. Destination NAT > policy lookup > source NAT > static NAT 

Correct Answer: C 
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